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Please check that this question paper contains 12 printed pages.

i i General Instructions :
Code number given on the right hand side of the question paper should be SRR SRREretyon

written on the title page of the answer-book by the candidate. (i) All questions in both the sections are compulsory.
Please check that this question paper contains 29 questions. (it)  Marks for questions are indicated against each question.
Please write down the Serial Number of the question before (iit)  Questions No. 1- 8 and 15~ 19 are very short-answer questions carring'

attempting it. I mark each. They are required to be answered in one sentence each.

15 minute time has been allotted to read this question paper. The question |- (iv)
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

Questions No. 4 -8 and 20~ 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 9 -~ 10 and 28 - 25 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
GIQj ITTEH 70 words each.

(vi)  Questions No. 11 - Id4 and 26 - 29 are long-ansiwer  questions
ECONOMICS carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vit)  Answers should be brief and to the point and the above word limits
T T 3 gue SRHTT 375 + 100 should be adhered to as far as possible.

> allowed : 3 hours Maximum Marks : 100
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SECTION A

z:ﬁ:zﬁnfaw%wmﬁimaa@ﬁ,aﬁszﬁmw&mﬁn:
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(7))  FHH 3N gwEt IHa

If Marginal Rate of Substitution is increasing throughout, the
Indifference Curve will be : (Choose the correct alternative)

(@) Downward sloping convex

(h) Downward sloping concave

(c) Downward sloping straight line
(d) Upward sloping convex

s et ) ufrm At | 1

Ij(,‘ﬁn(! budget line,

m‘za@xﬁ?{mmﬁvﬁ@,mvﬁma@?ﬁé,?ﬂaﬁa@imﬁ%;

=) fFeen g 1
(31)  ufawerh

(@) TH

(7)  wefua T8

(z)  wfear

If due to fall in the price of good X, demand for good Y rises, the two
goods are : (Choose the correct alternative)

(a) Substitutes

(b) Complements

(c) Not related

(d)  Competitive

3 P.T.O.
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ofd & Bma d= F owm ¥ oy T8 T-RE (plus sign) B gem # w
T T8 Y T R A ol o S we w2 e (minus sign) =7
HEw™ UHHATET |

Explain the significance of ‘minus sign’ attached to the measure of price
elasticity of demand in case of a normal good, as compared to the ‘plus
sign’ attached to the measure of price elasticity of supply.

Wwﬁgqﬁmﬁﬁf@ammmwuﬁmmﬁmwﬁﬁmm
feoaoft +Afdm

| x| a5 ¥ @) |

0 16 |
B 1 12

2 8 1

3 4

4 0

Giving reason comment on the shape“.of Production Possibilities Curve
based on the following schedule :

Good X (units) Good Y (units) T]
0 16 |

1 12 !

]

2 8 ﬁj

3 4 |

4 0 j

WRa & oW W A R fRve A “oma # TR (Make in India) =3
mmmﬁmﬁﬂmwwwmq@aﬁé&mév
TR |

areran
Wﬂﬂqw%ﬁmﬁwmmmaﬁmmwwummzﬁ
HTEAT R 2 AW |
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What is likely to be the impact of “Make in India” appeal to the foreign
investors by the Prime Minister of India, on the production possibilitics
frontier of India ? Explain.

OR

What is likely to be the impact of efforts towards reducing
unemployment on the production potential of the economy ? Explain.

‘RFan e’ (Frmem e ﬁum)%ma@%awwwmﬂatrgé% ?
Efas w1 g8 #Hiivm | 3
What are the effects of ‘price-floor’ (minimum price ceiling) on the
market of a good ? Use diagram.

faers “@ﬁmmgﬁﬁ:uﬁmﬁfﬁ%%?mm7%wnw?/
The following question is for the Blind Candidates only in lieu of
®. No. 7.

Qmmﬁ%amw%ﬁﬁnaﬁw’ﬁmﬁwﬁwﬁw)%uwmﬁm 3
Explain the effects of ‘price-floor’ (minimum price ceiling ) on the market
of a good.

wmwﬁmwmﬁiﬁ-zﬁnﬁuﬁﬁﬁmwm’ml 3

Explain the implication of non-price competition in an oligopoly market,.

@a-ﬁﬁwm@aﬁaﬁsﬁﬁ%mwmmm%(a)aﬁw

3= AT AR (1) ofrwd IRl @ITa W P SgEER e R 2 b
' AU '

e T (amm) 1 vt S | SHIfoTa e for ofram genfSy ofk

HTHT THEAM B 3 | 4

What is the behaviour of (a) Average Fixed Cost and (b).Avurage

Variable Cost as more and more units of a good are produced ?

OR

Define Average Revenue. Show that Average Revenue and Price are
same.

5 P.T.O.

10.

11,

12,

13.

Note :
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Tk IYHITHT Teh o W foreeh g = 4 9 SIS B, T 100 39T FAT £ | e
TR Fhma zsrrﬁmaam'eﬁam%,ﬁmsﬁ?ﬂwm-—gw ¢ 75 B AT
2 | it fafer gra i < dma e w1 wieen Hif |

A consumer spends ¥ 100 on a good priced at ¢ 4 per unit. When its
price falls by 25 percent, the consumer spends ¥ 75 on the good.
Calculate the price elasticity of demand by the Percentage method.

U 6] R Hger d R | awg o sgfd d gy’ @ st 2 1 3w afeda
% BT TR T NI ) AREE qHeeT |

Market for a good is in equilibrium. The supply of the good “increases”.
Explain the chain of effects of this change.

W%wﬁmaﬁsﬁgﬂ:ﬁaﬁwmv@mﬁa'zﬁq—éi'ém |
Explain why will a producer not be in equilibrium if the conditions of

equilibrium are not met.

mmm%wﬁw&wrﬁ%ﬁﬁm%%{ﬁmamwré ? WEE Ty
1 FRV FAY | @I w1 399 Ay |

What are the different phases in the Law of Variable Proportions in

terms of marginal product ? Give reason behind each phase. Use

diagram.

FHEIITET 797 39 giegiT woaTfart & frg e war 1 % T W

The following question is for the Blind Candidates only in lieu of

Q. No. 13.
wﬁaﬁm%ﬁw%ﬁ&awﬁzﬁwﬁ@mmw@mmmﬁ
HHATSY |

Explain with the help of a numerical example different phases in the

Law of Variable Proportions.

4
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A consumer consumes only two goods X and Y, both priced at = 2 per
unit., If the consumer chooses a combination of the two goods with
Marginal Rate of  Substitution equal to 2, is the consumer in

equilibrium ? Why or why not ? What will a rational consumer do in this
situation ? Explain.

OR
A consumer consumes only two goods X and Y whose prices are 5 and
¥ 4 respectively. If the consumer chooses a combination of the two goods
with marginal utility of X equal to 4 and that of Y equal to 5, is the
consumer in equilibrium ? Why or why not ? What will a rational

consumer do in this situation ? Use utility analysis.

- P.T.O.

15.

16.

17.
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Yus =
SECTION B

R e § mafie T a8 A R (a9 Reser gfiv)
(1) TTEE =Y - e wfeat

(@) 7@ = - e

(|) T "R~ YA

(3) TR 1T ~ N A

Primary deficit in a government budget is : (Choose the correct

alternative)

(a)  Revenue expenditure — Revenue receipts
(b)  Total expenditure — Total receipts

(¢) Revenue deficit — Interest payments

(d)  Iriscal deficit ~ Interest payments

gufee arsdymen # gun win’ & w7 orfturm 2 0

What is ‘aggregate demand’ in macroeconomics ?

s Hmia 39l wgfi = 1, o g 7g B (7R frere gfi)
(30) 0

(=) 1
(® o 1Fd=
(r) o=

If MPC = 1, the value of multiplier is : (Choose the correct alternative)
(a) 0

b 1

(¢c)  Between O and 1

(d) Infinity
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(31) 4 glfg 2@ & wvrem B

(%) H = o R Hre B R

(@) 3fe E B i o A Gured B 8

(3) WIS waTa TE B ) dureE g 2

Other things remaining the same, when in a country the market price of
foreign currency falls, national income is likely : (Choose the correct
alternative)

(a)  torise

(b)  tofall

(c) to rise or to fall
(d) to remain unaffected

W&%wwawﬁmaﬁmr%wﬁ%a@mﬁaﬁmmmam%:
(w@ fersred i)

(37)  3ewigenl | Sewfed awqali W

(@) Tassanett & swgd o= W

(W) shanstt & e @iy w

(&) o wy el &

Direct tax is called direct because it is collected directly from : (Choose
the correct alternative)

(a) The producers on goods produced

(b) The sellers on goods sold

(c) The buyers of goods

(d) The income earners

Tacul & 3ur’ yrm wqem @I ¥ el 7 R ST R 2 SR s |
Where is ‘borrowings from abroad’ recorded in the Balance of Payments
Accounts ? Give reasons.

9 P.T.O.
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22,

23.

24.
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afe arefas wwa 2¥l 3ER T 500 @1 3R e YIHTH (AU = 100)
125 %1, &1 Hifyw weet 3 3emg 1 aferem Hifim |

If the Real GDP is ¥ 500 and Price Index (base = 100) is 125, calculate
the Nominal GDP.

fer (fra) fafime ot oit a<iieh (7m) fafma 22 & @ sfum 2 0
sran

i sramrft (seifim fereell) fafmr ox w1 e awan |

What are fixed and flexible exchange rates ?

OR
Explain the meaning of Managed Floating Exchange Rate.

U siefeaaedt HaeE A @ | Frsfafaa @ g agd sgfa &1 yferem hifu |
TR ™ = 1000
R 399 = 100
= = 120

An economy is in equilibrium. Calculate the Marginal Propensity to
Save from the following :

National Income = 1000
Autonomous Consumption = 100

Investment = 120

%ﬁﬁué‘maﬂ“ﬁﬁwﬁ$m”m |
SOC)
HE S B “Sriehal A" F aegTE |
Explain the “Bankers’ Bank function” of the central bank.

OR

Explain the “Bank of Issue function” of the central bank.
10
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Currency is issued by the central bank, yet we say that commercial
banks create money. Explain. How is this money creation by commercial
banks likely to affect the national income ? Explain.

atpl arunEemd N wE o TR wd Afd w1 A TEm R w82
THUTFU, |

Explain how the government can use the budgetary policy in reducing
inequalities in incomes.

FT] S §U AHEEY R U o w1 omeher i g frefafaa % ae
Ao smeE B s =t

(1)  wF e ® vk HH GRS YraE

(i) UF =T @) U W g S T

(i) F ¥ ) v =fRE g S A

Giving reason explain how the following should be treated in estimation
of national income :

(i) Payment of interest by a firm to a bank

(i)' Payment of interest by a bank to an individual

(iii)  Payment of interest by an individual to a bank

‘i) win' B e wfima R 2 e @ EW A S g0 Al e gEEy |
At
“pfa win’ (stfumin) & wn o1fygm 2 2 s@eRl @ FW H wft gAEie @ A
sjfereRT HIEET |
What is ‘deficient demand’ ? Explain the role of ‘Bank Rate’ in removing
it
OR
What is ‘excess demand ? Explain the role of ‘Reverse Repo Rate’ in
removing it.

11 P.T.O.
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‘Frar Hma w fFas T 3are’ qon Aafes 3’ w1 uferen S

(#8 T)
() TR g FEAT YA 7
(i) =T Sfam I e 50
(i) Frae s (-) 10
Gv) fraa g ema dsft Fafor 60
(v)  fh sifem soum == 300
(vi) - f=ft 3t 280
(vii) gt = frae Fre oM (-)5
(viii) otfem =T 8
(x) M wiw 8
(x) Heus™ 12
xi) e 60
(xii) frmat = wfufe e : 20

Calculate ‘Net National Product at Market Price’ and ‘Personal Income’:

(& crores)

1) Transfer payments by government 7
(ii)  Government final consumption expenditure 50
(iii)  Net imports (=) 10
(iv)  Net domestic fixed capital formation 60
(v)  Private final consumption expenditure 300
(vi)  Private income 280
(vii) Net factor income to abroad (=) 5
(viii) Closing stock 8
(ix)  Opening stock 8
(x)  Depreciation 12
(xi)  Corporate tax 60
(xii) Retained earnings of corporations 20
12



